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struct gconvstruct struct Unmar shal Val uegconvst r uct st ruct gconvUnmar shal Val ue

@ Unnar shal Text (text []byte) errorUnmarshal Val ue

/1 api Unmar shal Val ue is the interface for custom defined types custom zing
val ue assi gnnent.
/1 Note that only pointer can inplenent interface api Unmarshal Val ue.
type api Unnmarshal Val ue interface {
Unmar shal Val ue(interface{}) error

}

Unnar shal Val uei nterface{}

Content Menu
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@ Unmar shal Val ue(Recei ver)

func (c *Receiver) Unnmarshal Val ue(interface{}) error

func (c Receiver) Unnmarshal Val ue(interface{}) error

1st ruct

CREATE TABLE “user™ (

id bigint unsigned NOT NULL AUTO_| NCREMENT,
passport varchar (45),

password char (32) NOT NULL,

ni cknane varchar (45) NOT NULL,

create_tine tinmestanp NOT NULL,

PRI MARY KEY (i d)



package main

inmport (
"f ot
" gi t hub. conf gogf/ gf/v2/ contai ner/garray"
"gi t hub. conf gogf / gf / v2/ dat abase/ gdb"
"gi t hub. com gogf/ gf/v2/errors/gerror"
"gi t hub. conf gogf/ gf/v2/frame/ g"
"gi thub. com gogf/gf/v2/ os/gtime"

"reflect"”

)

type User struct {
Id int
Passport string
Passwor d string
Ni ckname  string

CreateTine *gtinme. Tine

}

/1 Unmar shal Val ue
func (user *User) Unnarshal Val ue(val ue interface{}) error {
if record, ok := value.(gdb. Record); ok {
*user = User{
I d: record["id"].Int(),

Passport: record[ "passport”].String(),
Passwor d: e
Ni ckname: record["ni cknane"]. String(),

CreateTine: record["create_tinme"].GTinme(),

}

return nil

}
return gerror. Newf (" unsupported val ue type for Unmarshal Val ue: %
v, reflect. TypeOf (val ue))

}
func main() {
var (
err error
users []*User
)
array := garray. New(true)
for i :=1; i <= 10; i++ {
array. Append(g. Map{
"id": i,
"passport": ft.Sprintf(“user_%, i),
"password": frt.Sprintf( pass_% , i),
"ni ckname": fot.Sprintf( nane_% , i),

“create_ tine":

00").String(),

_, err = g.Mdel ("user").Data(array).Insert()

err = g. Model ("user").Order("id asc").Scan(&users)

b

}

11

if err I'=nil {
panic(err)

}

/1

if err '=nil {
panic(err)

}

g. Dunp(users)

gti me. NewFronStr (" 2018-10-24 10: 00:
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package main

inmport (
"errors"
"t
"gi t hub. conf gogf / gf / v2/ crypt o/ gcrc32"
" gi t hub. com gogf/ gf/ v2/ encodi ng/ gbi nary"
"gi t hub. conf gogf/gf/v2/util/gconv"

)

type Pkg struct {
Length uint16 // Total |ength.
Crc32 uint32 // CRC32.
Dat a [1byte

}

/1 NewPkg creates and returns a package with given data.
func NewPkg(data []byte) *Pkg {
return &Pkg{
Length: uint16(len(data) + 6),
Crc32: gcrc32. Encrypt (data),
Dat a: dat a,

}

/1 Marshal encodes the protocol struct to bytes.
func (p *Pkg) Marshal () []byte {
b := neke([]byte, 6+l en(p.Data))
copy(b, gbinary. EncodeUi nt 16(p. Length))
copy(b[2:], gbinary. EncodeU nt32(p.Crc32))
copy(b[6:], p.Data)
return b

}

/1 Unmar shal Val ue decodes bytes to protocol struct.
func (p *Pkg) Unmarshal Value(v interface{}) error {
b : = gconv. Bytes(v)
if len(b) <6 {
return errors. New("invalid package | ength")
}
p. Length = gbi nary. DecodeToUi nt 16(b[: 2])
if len(b) < int(p.Length) {
return errors. New("invalid data | ength")

}
p. Crc32 = ghinary. DecodeToUi nt 32( b[ 2: 6] )
p. Data = b[6:]

if gcrc32.Encrypt(p.Data) !'= p.Crc32 {
return errors. New("crc32 validation failed")

}

return nil

func main() {
var pl, p2 *Pkg

/] Create a denp pkg as pl.
pl = NewPkg([]byte("123"))
fmt.Println(pl)

/1 Convert bytes frompl to p2 using gconv. Struct.
err := gconv. Struct (pl. Marshal (), &p2)
if err I'=nil {
panic(err)
}
fm.Println(p2)



&{9 2286445522 [49 50 51]}
&{9 2286445522 [49 50 51]}
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